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Instructions to the candidate : i
1. o gurEva Ao T 9 @ IW G
Candidates are required to give their answers i
practicable. '
o wfi T wRW W R g siw qoite fafie e
Figures in the right hand margin indicate full marks.
3. Wit Wy afEn €
All guestions are compulsory.
4. Tt 3% W Tt qUYE e -ENT & A T
While answering the candidate should adhere to the word limit as
practicable. BiharPaper.com

5. Wwﬁqﬁ%fﬁqwﬁwaﬂaﬁiﬁ?ﬁmﬁwwh

for the candidates to read the

n their own words as far as

far as

15 minutes of extra time have been allotted
questions.
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General Instructions :

(i) W-ﬁﬁﬁgﬁﬁﬁﬂﬁﬂﬁ%,W%SOWWW%IW-AW@-B'&W
20 3%, qu-C HR gU-D H WAF 17 3% @ gu-E § 6 3 Fraifta €1

The question pépcr ‘s divided into five Groups, in which there are 30 questions in
~all, Groups A and B carry 20 marks each. Groups C and D carry 17 marks ecach
and Group E carries 6 marks. . .
(ii) 1#ﬁ$mnawmgﬁﬁqﬂﬁ%7.a§aﬁ$mﬁ?ﬁ-mfﬁtﬁn
Wmﬁmm-mﬁﬁqwﬁmﬁﬁﬂwﬁmﬂ%uﬁ?ﬁmﬁr{%
- g SR Wl ¥R A HT g
1 mark questions are of two types — Multiple choice and Fill in the blanks. The
answers of the Multiple Choice questions are to be selected from the options given
in the question paper. Fill in the blanks with appropriate words according to the

-xtbook. i
textboo BiharPaper.com
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(i)

(iv)

By

(vi)
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2 marks questions arc al Very Short Answer type Answers of these questions
should not exceed 20 words each.

§m4ﬁﬁ%mﬁmﬂqﬁﬁu%1mm%maﬁiﬁqsoméowﬁ
|

3 marks or 4 marks questions are all Short Answer type. Answers of these
questions should not exceed 50 or 60 words each.

6m7ﬁﬁ$wmfﬁﬁﬁaﬁnmmmmaﬁwmom
120 O} | 31 ¥

© or 7 marks questions are all Long Answer type. Answers of these questions
should not exceed 100 or 120 words each,

AT Qe s W PR gy BibarPaper.com

The questions related to the maps are to be answered as directed.

T -A
GROUP - A
FhoeTa
( 3% : 20)
History
{ Marks : 20 )
=it sgfompedta et § ¥ wet Faeea o -
Choose the most appropriate options in the following multiple choice questions :

“MET FY' F @unen e fawiaa oY of 2

() T . BiharPaper.com (@) i“iil I

(m mifess m (=) gwEE) 1
Who had developed the ‘Garden City' hypothesis ?

(a) Ebenezer Howard (b) William

{c) Napoleon il {d) Hasman,

‘firfafeanr v e wmar ¥ 2

(F) e oo = (@ <Afm =

(M oume o (F) = w1 ]
Who are calied 'Girmitya' ?

(a) Contract labourers {b) Patients

{c) Lizards {d) Englishmen.

el v | f W & gia

Fill in the blank with appropriate word :

AT T = SIS C’f\\@“’f&% T BiharPaper.com 1

The founder of Anami Dalwas .................
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Fill in the blank with appropriate word :

RCARR SR CE I i S 1 U o9 o g e

Rashtriya Swayam Sevak Sangha was founded in the year ..o A

F= W & 3R 50 etgen o Tl A B

Answer the lollowing question in 50 or 60 words :

Arniiertor 3 werRt @ ayeifae @ fEw Tt watsd fEar o ? 3

How did industrialization influence the livelihood of the labourers ? -

=1 o w1 IR 50 Ym eo TR H F BiharPaper.com |

Answer the following question in 50 or 60 words :

I STy o ‘B2t w1 @ a9y 2

What is the meaning of '‘Gheto' in -European history ?

3 we= &1 IR 50 T 60 VR T J

Answer the following question in 50 or 60 words :

3Tl & USHIHTOT O B 1 a1 GRETH 9T 2

What was the contribution of Mazzini in the untfication of Italy ?

Fr= wv9 %1 I 100 FEAT 120 TRT H T

Answer the following question in 100 or 120 words :

ATEeT WA T S H WG F9 g3 2 THF YRS 3299 71 9 2 7
BiharPaper.com steraT

fe=-d19 TafTerer &1 TN HT LY 1T 9T ?
How was the All India National Congress formed ? What were its initial objectives ?

OR
What was the aim of colony establishment in indo-China ?

o9 - B
GROUP - B

( 3% : 20)
Geography

{ Marks : 20 )

fepevifera sgfoeedia weHl 4 @ wEt fawew I
Choose thc most appropriate options in the following multiple choice questions.:
= & 9 ®19 IUNE FamE ?
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Which one of the following is a consumer industry ?

a 3 (b)  Cement

o e @ iron and seel.
i & woE IR WA

(@) femad (@) . wRa

(W) R () <‘ﬁ'§fﬂ?7“ul

Major production place of uranium is

(a) Digboi (b) Jharia

(c) Ghatshila (d)  Jadugoda.

T T @ [ wﬂj &1 qf aﬁl : " BiharPaper.com

Fill in the blanks with appropriatc words : |

i deR e FR NS vd Fe fEal §
................... look more attractive and living by Hachure method.

() TAREE H & IO FH ¢ |
Major plantation crop in Karnataka is .........cc.ooereanees .

Freq o9 1 IAX S0 AT 60 WRI H & :

Answer the following question in 50 or 60 words .

st 5 e 6 WEE ¥ 39 o FHEH E 7

What do you mean by conservation and management of minerals ?
fy 79 @1 TR 50 I 60 IERI A §

Answer the following questien in 50 or 60 words :

Foaent 3TFaTeT 1 € 2

What is Chipko Movement ? BiharPaper.com
Py w9 1 ITX 50 ST 60 VI H T

Answer the following question in 50 or 60 words :

e Ter aRee F e faeest @ JeeE H]

Mention the major features of Indian Rail transportation.

Fr=T wee @7 ST 100 Al 120 VR A K

e 3§ gt g Fam & faeror w5 avi i

HAAT
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16.
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Answer the foliowyrg Gueston @ s OK8 o 120 werd®
Describe the distnbution of ootion poxtiie indunil® m indsd
OR by shadnd
[raw the outline map of ind:a on full page and mark the fiiow g B T
fa)  Coflre production area
{bj Coal production arra .
(<) Knlkata port BlharPaper-CGm
id) Area of alluval soi
fe) Chennar
OR
Only for Blind Candidates :
Explain in detail about cotton textile industry n Eihar
qe -C
grouP-~-C .
rraifa fanma
( 7% 3 17)
BiharPaper.com Politicsl Science
{ Marks : 17}
fepriten u'gfaawfru gyd § @ wet faE= Ve
Choosc the most appropriate opuons in the ollowing mulupile chows uentng
g WUwR & t
(%) ¥ERE (g fwz=
(m) €A gy v @ ot i
An example of federal government 18
aj Amenca b Britasn
c} China fd Nore of these
ggrT I R el Ll Sl
(%) joa2 ® (@) 199 %
(M 20007 (5) 2 F f
When was United Jania Party formed ?
. . ] SO
20 BiharPaper.com
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18 5 v 3R 20 VR A ¢

Answer the following question in 20 words :
TReRarg &0 & ?
What is Familycracy ?

19, I WY T IR 50 A 60 WA H & °
Answer the following question in 50 of 60 words :

e & e wids § wn aged @l ¢ 2 BiharPaper.com
What importance does alliance have in democracy ?

fe wes &1 3T 50 ST 60 A A €

Answer the following question in 50 of 60 words .
11 ST SR B g § 7 T H

Is terrorism a challenge for democracy ? Explain

S 99 1 IR 100 ST 120 YR AT
wer the following question in 100 or 120 words :

20.

21.
Ans

T F E T % W@ anee #i Fsd |
: Fuar

_ uﬁ%ﬁw%ﬂwu@ﬂﬁﬂaﬁmm??

Name the important sources of income of Municipal Corporation.
OR

BiharPaper.com
How does political party contribute to the national development ?
qq-D

GROUP-D
ey
( &F : 17 )

Economics
( Marks : 17}

frifeea wgfaeedta st 3 Wt fosed 9 ¢
g multiple choice questions :

Choosc the most appropriate options in the followin

R A B T @ Ut = A el § 2

(F) R (@ U=
NI (2) efaEmm

Which state has the highest per capita income in India ?
{b)  Punjab

(a) Bihar
(cj Goa (dj  Haryana.
BiharPaper.com
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(%) @ (@) i

oAT) iy (@ @ @ 1
Which sector is called Secondary sector ?
(a) Service

(b)  Agriculture

{c) lndumry (d) None of these.

= T 3w 20 vl 7
Answer the following question in 20 words :

N _ BiharPaper.com
el T ¥ e e § y P

What do you understand by Financial Institution ?
= e . e 50 3199 60 Wi | ¢
Answer the following questmn in SO or 60 words :
I SR Wi 71 e & 0
What is the importance of cconomic infrastructure ?
= weg =57 I 50 JAT 60 T T F - BiharPaper.com
Answer the following question in 50 or 60 words
UG 31 ) 0 | 21 erelt swheaRat & gl w1
Describe about the difficulties faced during measurement of national income.
= w1 s 100 SwET 120 TR F F
Answer the following question in 100 or 120 words -
TR & HGH Ferd WS BT |
HYTa
FERIRal & A o a1 & ? fen & fowmw o wwent gl @ avig w51
Describe the economic importance of money.

OR

What arc the main elements of cooperation ? Describe its role in the development
-of Bihar.
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28.

29.

30.
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T -E
GROUP - E

3AET UTAIH
( 3% : 6 )
Disaster Management
[ Marks : 6 )

frifera sgfamedra wwal d W e oA

Choose the most appropriate oplions in the following multiple choice questions :

fA=iifera | ®19 Wieptas 3UET & 7
() W1 & (@) =M fFeee
\9) P BiharPaper.com (9)  TEEEE <9z 1
Which one is a national disaster ?
(a} Fire burn (b) Bomb explosion
{c) Earthquake (d) Chemical accident.
AT T W FROT R
) R H R S (@) T &7 Y A
(M) 9eET WY 3 (F) wH 8 BE A 1
What is the main recason behind Tsunami ?
(a} Earthquake in the sca {b) Earthquake in the land area
(c) Earthquake on the carth (d} None of these.
A=t wv 1 IR S0 SEl 60 TRTH J
Answer the following question in 50 or 60 words : '
AR WeA % I2vd] i Tae L

Describe the objectives of disaster management,
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